=LFDb
*UXSD 5R]INiDG +,6 O 1$ 7\J

7\G]
-RQZHUWDIRULXP
VSHFIDIL]DF\IQH UZ GU
KDE 2GUJ\ZRIVND $QQD

N

-RQZHUVDIRUXP
VSHFIDILJDF\IQH 4Z GU

7\G]

-RQZHUWDIRUXP
VSHFIDL]DFNIQH UZ GU
KDE 2GUJ\ZRIVND $QQD

N

6HPLQDUXP
PDJLVIHUWNIH GU
KDE 7UgEVNL ODFLHI SURI

7N

= \NiDG PRQRIIDI 1Z ]
VHPLQDUXP PDJLVIHY

% SIRI 8-" = ( KDE 2GUJ\ZRIVND $QQD SIRI 8-" " ( 8-" "( +6 0 Z GUKDE 7UgEVNL
fat +,6 O z SURI 8- " ( +,6 O - - ODFHI SIRI 8-= = (
= +,6 0 - +,6 0 -
O] 7\G] 7\G]
T , 7\J 5
o = \NiDG PRQRJIUDILF]Q\ = \NiDG PRQRJUDILF]Q\
x VSHFIDIL]DF\IQ\ GU KDE VSHFIDIL]DF\IQ\ GU KDE
n 2GUI\ZRIVND $QQD SURI = \NiDG PRQRJIUDILF]Q\ 2GUI\ZRIVND $QQD SURI

8-" "( +,6 O VSHFIDIL]DF\IQ\ GU KDE 8- "( +,6 O

- 2GUJ\ZRIVND $QQD SURI -
8-" "( +,6 0
=
[N
AN AN
=DU]aG] GRNXP ZVSyi
a HIHNIU QRGQINDPL LQIRU =DU]aG] GRNXP ZVSyi
O] UZ GUKDE =]LZRNL HOHNIU QRGQLINDPL LQIRUP
x -XID SURI 8-" = ( Z GUKDE ™]LZRN
I .20387(52:% "( -XID SWRI 8- = (
.20387(52:% .20387(52:%
+60 $ +,6d +60 $ +6 0

—
o3
=
(3]
o
O




